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Match #3


These questions are for use in the Virginia High School League’s Scholastic Bowl District competition. Shawn Pickrell, Jason Mueller, and Dan Goff are the authors of these questions; further editing was done by Adam Fine and Marian Suter.

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before all VHSL District champions have been determined is prohibited. 

(b)
Releasing these questions to entities outside your District’s competition is prohibited. 

First period: 15 tossups, 10 points each
1.
He established a television show known as the Old Time Gospel Hour, where he led the broadcast as pastor of Thomas Road Baptist Church.  In 1979, this man joined with Pat Robertson to form a conservative Christian political lobby known as the Moral Majority.  Who is this Lynchburg-based religious leader who died in 2007, also known as the founder of Liberty University?

ANSWER: Jerry Falwell
2.
A king sharing his name ruled Scotland between 1107 and 1124; another king sharing it was the second king of Yugoslavia. His tomb was opened and found empty in 1925, and some hold he became the hermit Feodor Kuznich. He was also the first Grand Duke of Finland, created the Holy Alliance in 1815, and declared a Patriotic War against Napoleon in 1812. What Russian tsar ruled between 1801 and 1825? 

ANSWER: Alexander I

3.
In 2007, the score for leaving an answer blank was reduced to 1.5 points. In 2000, it was reduced from 30 to 25 questions and got a name change. A perfect score was still 150 points. A score of 120 or more on the 10 level or 100 or more on the 12 level gets you asked to take the next test, the AIME. What is the first test taken by aspiring participants in the International Mathematical Olympiad?

ANSWER: American Mathematics Contest(s) or AMC

4.
When this five-letter word is before ‘bucket,’ it refers to a bucket used to store human waste when a flush toilet is unavailable. When it is after ‘mad,’ it refers to a substance made from azaleas or mountain laurels. It is a term of endearment, shortened to one syllable by speakers from Baltimore. After weaning from royal jelly, what substance is used as a food supply for bees? 

ANSWER: honey
5.
Once known as Parkesine and Xylonite, it is considered to be the first thermoplastic.  It was created in the mid nineteenth century and uses camphor as an ingredient.  Name this compound that is now used for guitar picks and ping-pong balls, and was once used to make film. 

ANSWER: celluloid
6.
In The Flies, Sartre (sart) gave her story a 20th century retelling. Euripides (you-rih-puh-deez) said she was married to a peasant in the hope that her children could not contend for the throne of Mycenae; she eventually married Pylades (pie-lah-deez), who had helped her kill her mother. Who was the daughter of Cly-tem-ne-stra and A-ga-mem-non, the brother of Orestes, and namesake of a complex corresponding to Oedipal? 

ANSWER: Electra (in the Oresteia)

7.
It begins in three-eighths time, with the left hand doing arpeggios. It ends quietly with an authentic cadence in its key of A minor. In fact, it is also known as ‘Bagatelle in A minor.’ What solo piano work was dedicated to Therese (tay-ray-say) Malfatti, but is known by another name due to the terrible handwriting of Beethoven? 

ANSWER: Für Elise (fyoor ay-lee-say or fur ay-lees) (accept Bagetelle in A minor before ‘Bagatelle’ is said.)
8.
He is the namesake of the lawsuit that allowed NBA players to declare free agency. He perfected the fadeaway jumper and head fake. He is also the only NBA player to average, over an entire season, more than 10 points, rebounds and assists per game. He led the Milwaukee Bucks to their only NBA title in 1971. What basketball player, a graduate of the University of Cincinnati, was nicknamed ‘The Big O’? 

ANSWER: Oscar Robertson
9.
After the death of his brother Bleda, he fought the Persians and Byzantines. He got a letter from Honoria, the sister of Roman Emperor Valentian III, which he interpreted as a marriage proposal. He invaded France to claim his dowry, and was stopped at Chalons. He later invaded Italy, where only the entreaty of Pope Leo the Great stopped him from sacking Rome. What ‘Scourge of God’ was the leader of the Huns?

ANSWER: Atilla the Hun

10.
He observed the difference between – and thus gave names to – alpha and beta particles. He thought alpha particles disproved the ‘plum pudding’ atomic model. He directed Hans Geiger and Ernest Marsden as they streamed alpha particles, noticing that some of them bounced back off the target. Who is credited with discovering atomic nuclei with his experiment involving gold foil? 

ANSWER: Ernest Rutherford
11.
THIS IS A COMPUTATION QUESTION. If A equals 1 through Z equals 26, what is the numerical value of F times Q times J, given that F equals 6, Q equals 17, and J equals 10?

ANSWER: 1020
12.
Its archives were opened in 2005, fourteen years after its dissolution. Planners had not planned a defensive war, with offensive war plans centered on quickly seizing Western Europe. Its policy of non-interference in members’ internal affairs was violated twice with the invasions of Hungary and Czechoslovakia, although Albania withdrew without incident in 1968. What parallel to NATO was named for the capital of Poland? 


ANSWER: Warsaw Pact
13.
For the Dinka in Sudan, it was Abuk (ah-book). For Tagalog (tah-gah-lohg) speakers, it was Maganda. For the Navajo, it was Altse (alt-say) Asdzaa (ahs-dzah-ah). For the Mesopotamians, it was Ninti (neen-tee). For the Norse, it was Embla. For Greeks, it was Pandora. These mythological figures all share what ‘title’ that in Abrahamic tradition is held by Eve? 

ANSWER: first woman (accept equivalents, DO NOT accept ‘first man’ or ‘first person’)

14.
Also known as tocopherol (toh-coh-feh-rawl) or tocotrienol (toh-coh-tree-eh-nawl), its chemical formula is C29H50O2 and it has eight isomers.  Its recommended intake is fifteen milligrams a day and it may help to prevent cancer, cataracts, heart disease, Alzheimer’s disease, and Parkinson’s disease.  Name this antioxidant fat-soluble vitamin that acts as an anticoagulant and is often used in skin creams.

ANSWER: vitamin E
15.
In 1587, the Privy Council intervened to force Cambridge to give him a master’s degree. In 1593, Thomas Kyd fingered him as the man behind threats against Dutch and French Protestants in London; he died under suspicious circumstances two weeks later. Who, in his brief career, wrote Tamberlaine, Edward the Second, The Jew of Malta, and The Tragical History of Doctor Faustus? 


ANSWER: Christopher or ‘Kit’ Marlowe
Second period, 10 directed questions per team, 10 points each
Set A questions have an ‘A’ after their number; set B questions have a ‘B.’ 

1A.
In June 1776, what woman supposedly received a visit from George Washington and Robert Morris, and was then commissioned to sew an American flag?

ANSWER: Betsy Ross
1B.
THIS IS A COMPUTATION QUESTION. What is the complex product of 5 plus 4i and its conjugate?

ANSWER: 41
2A.
Written by Don McLean and measuring in at eight minutes and thirty-two seconds, what song is an allegory to the ‘day the music died’?

ANSWER: ‘American Pie’

2B.
The term auditory refers to what sense?

ANSWER: hearing
3A.
What is the past participle of the verb, ‘to bear,’ that is a synonym of ‘to carry’?

ANSWER: (have/had/has) borne

3B.
In May 2007, she married Josh Hartzler, saying the song ‘Bring Me To Life’ was inspired by him. Who is this lead singer of Evanescence? 

ANSWER: Amy Lee (or Amy Hartzler)

4A.
Driving through a road cut on an interstate allows one to view what multiple layers of rock or soil with uniform and unique characteristics?

ANSWER: strata
4B.
Marjorie Morningstar, War and Remembrance, and The Winds of War are all by what author, best-known for The Caine Mutiny? 


ANSWER: Herman Wouk
5A.
THIS IS A COMPUTATION QUESTION. What is the greatest common factor of 120 and 48?

ANSWER: 24
5B.
Wayne Morse cast a vote against what August 1964 resolution that essentially gave the President a blank check to fight the Vietnam War?

ANSWER: Gulf of Tonkin Resolution

6A.
How many carbon atoms are in a molecule of butane?

ANSWER: four
6B.
While most French plurals end in ‘s,’ what other letter is frequently added to nouns, especially those ending in ‘-eau,’ to form the plural?

ANSWER: x
7A.
What Chaucer character proclaims, ‘Women desire to have sovereignty / As well over her husband and her love’ and also, ‘I have had five husbands at the church door’?


ANSWER: the Wife of Bath or Alison
7B.
John E. Potter is the current occupant of what office, first held by Benjamin Franklin, which lost its cabinet status in 1971? 

ANSWER: Postmaster General
8A.
Juana (wah-nah) the Mad was the last queen of what country that united with Leon and Aragon to form the modern Kingdom of Spain? 

ANSWER: Castile
8B.
THIS IS A COMPUTATION QUESTION. Solve for x.  x squared minus 2x minus 35 equals zero.

ANSWER: x equals seven or negative five (can be said in either order)

9A.
Claude, the leader of ‘The Tribe,’ sleeps with NYU film student Sheila and goes off to fight in Vietnam in what 1967 musical about hippies? 

ANSWER: Hair
9B.
What Dutch philosopher worked as a lens-grinder while working on his posthumous work, Ethics?

ANSWER: Baruch (or Benedictus) de Spinoza
10A.
THIS IS A COMPUTATION QUESTION. What is the surface area of a cube with edge length 3 feet?

ANSWER: 54 square feet
10B.
For random access memory, what term describes the time, in clock cycles, between being told to access a memory location and actually reading the location?

ANSWER: CAS Latency (CAS can either be Column Address Strobe or Column Address Select)

Third period, 15 toss-ups, 10 points each

1.
Predicted by its namesakes in 1925, it is very fragile and can be described by the Gross-Pitaevski equation.  It was first created using rubidium atoms and laser cooling.  Its creation earned Wolfgang Ketterle, Carl Wieman, and Eric Cornell the 2001 Nobel Prize in Physics.  Name this supercooled state of matter in which most atoms collapse into the lowest quantum state.

ANSWER: Bose-Einstein condensate

2.
Outside of the service academies, this university has the nation’s largest student cadet corps. ‘Howdy’ and ‘Gig ‘em’ are common phrases, and students consider themselves the ‘12th man.’ It is a land-grant, sea-grant, and space-grant university, and the site of the George Bush Presidential Library. Until it collapsed in 1999, an annual bonfire was built by what school’s ‘Aggies,’ the bitter rivals of the University of Texas? 


ANSWER: Texas A&M University

3.
A Cape Verde-type storm, it made landfall in the Bahamas on August 23rd. In 2002, it was officially upgraded to a Category 5, nearly a decade after it hit. It made two landfalls in the US; the second was in southern Louisiana, but the first landfall destroyed Homestead Air Force Base.  What hurricane that made landfall in 1992 caused more than $20 billion in damage to the Miami-Dade area of Florida?

ANSWER: Hurricane Andrew
4.
After World War I it changed its primary product from tobacco to a sugary product first marketed under the brand name Bazooka, and in 1951, started adding cardboard photographs of sports players. Its monopoly on the industry was broken in 1981 by Donruss and Fleer; 1991 saw it introduce one of the first high-tech sets in the form of the Stadium Club brand. What company is known for its baseball cards?

ANSWER: Topps
5.
The film based on this play has a lot of mendacity, as the reason behind Skipper’s suicide has to change, and other references to homosexuality are largely deleted. Mae and Gooper still have five kids, and everyone still fakes being nice to the wealthy Big Daddy, who doesn’t know he is dying of cancer. At the end, Maggie and Brick Pollitt reconcile in what Tennessee Williams play? 

ANSWER: Cat on a Hot Tin Roof
6.
Ernst Mayr laid the groundwork for this theory put forward in a 1972 paper by Niles Eldredge and Stephen Jay Gould.  Name this evolutionary theory that states that most sexually reproducing species show little change in most of their history and that when evolution occurs, it occurs quickly.

ANSWER: punctuated equilibrium
7.
Early on, this book’s main character attends Shiz University, where she is taught by Doctor Dillamond – at least until he is killed by Madame Morrible in a fit of anti-goat prejudice. She meets her death shortly after her sister Nessarose is accidentally killed by a house containing a 12-year-old girl and a dog. In what novel by Gregory Maguire is the green-skinned Elphaba unfairly called the ‘Witch of the West’? 


ANSWER: Wicked
8.
In a circle, it’s equal to y over r; in a unit circle, it’s equal to y; and it is an odd function of period two pi.  Name this trigonometric function that for zero degrees equals zero and for an acute angle in a right triangle equals opposite side over hypotenuse.

ANSWER: sine
9.
He was the first chairman of the Securities and Exchange Commission; while serving in that post, he made millions of dollars from selling newly legal liquor. He was the Ambassador to the UK between 1938 and 1940. He joked that “no way he was paying for a landslide” in the Presidential election won by his son. Who fathered nine children: a namesake son, Jean Ann, Patricia, Kathleen, Rosemary, Eunice, Robert, John, and Ted?  


ANSWER: Joseph Kennedy, Sr. (prompt on ‘Kennedy’)

10.
Prior to his election as President in 2005, he had previously served as Prime Minister, but had conflicted with both Israel and the United States, along with the then-President of the National Authority.  Suspected to be involved in the plot at the 1972 Munich Olympics, his recent moderation has brought conflict with the extremist Hamas organization.  Who is the current President of the Palestinian National Authority?

ANSWER: Mahmoud Abbas or Abu Mazen
11.
Discovered in 1797 by Louis Vauquelin (voh-keh-lan), it can form quintuple covalent bonds and makes rubies red.  Its leading producer is South Africa and uses of it include leather tanning and making yellow paint.  Its atomic mass is 52, and its name comes from the Greek for color.  Name this transition metal that has atomic number 24 and symbol Cr.

ANSWER: chromium
12.
The belle of Louisville society, this fictional character couldn’t wait for her officer boyfriend – she married money and power in 1919. Her officer boyfriend never stopped loving her – he took the fall after she accidentally ran over Myrtle Wilson. Representing the amoral values of East Egg against the Midwest values of Nick Carraway, what character in The Great Gatsby is the wife of Tom Buchanan? 


ANSWER: Daisy Buchanan

13.
This word comes to us from a German word meaning ‘strong metal.’ When used before ‘in the fire,’ it can refer to a project that is underway. What is also the name of a set of nine golf clubs used for intermediate driving distances, or of an implement that smoothes out wrinkles in clothes? 

ANSWER: iron(s)
14.
It was a response from evangelical Protestants to the Revised Standard Version. It was explicitly for Protestants; it does not include a translation of the Apocrypha. The International Bible Society and Zondervan published it in 1978. As its name implies, scholars from six nations and 20 denominations were involved in its translation. Some King James Only believers refer to what Bible translation as the “HIV”? 

ANSWER: New International Version (accept NIV before ‘HIV’ is said)

15.
This city has the tallest building in the US outside of Chicago and New York, the Bank of America Plaza. Its metropolitan area includes 28 counties including Rockdale, Paulding, Forsyth, Cobb, DeKalb, and Gwinnett. Its public transit service is MARTA, and its airport is Hartsfield-Jackson International Airport. What is the capital and largest city in the state of Georgia? 

ANSWER: Atlanta, Georgia

Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
Since 1998, he has been having ‘New Adventures,’ such as going to a chocolate factory and enjoying a first day of school. The seven original adventures, including riding a bike and getting a job, included illustrations by H.A. Rey. In the United Kingdom, he was called Zozo, to avoid insulting the then king. In 1941, a man in a yellow hat caught what inquisitive, tailless monkey? 


ANSWER: Curious George
2.
The background of this painting contains Black Lion Wharf, another work by this artist. Thomas Carlyle was so impressed by it that he sat for a sequel to this painting. Legend holds that another model fell ill, and the replacement model ended up sitting since she could not stand for long periods of time. What 1871 painting shows a woman, seated and wearing the title colors, modeling for her son?

ANSWER: Arrangement in Grey and Black, Number 1: The Artist’s Mother or Whistler’s Mother
3.
THIS IS A COMPUTATION QUESTION. What is the value of 2 to the negative fourth power, given that 2 to the fourth equals 16?

ANSWER: 1/16
4.
It was made in early 1869 by San Francisco’s Garrett Foundry and is today at Stanford’s Cantor Arts Center. A board, made of California laurel, was made to accompany it, and it was replaced by an ordinary substitute made of iron at 12:47 p.m. on May 10, 1869. Utah’s state quarter features what item that symbolically connected the Union Pacific and Central Pacific Railroads?


ANSWER: the golden spike
5.
There are an estimated 59,300 species of them and they usually have adventitious roots, scattered vascular bundles, trimerous flowers, and parallel leaf veins.  Examples of them include orchids, rice, wheat, bamboo, onions, and corn.  Name this major type of flowering plant that has one embryonic leaf.

ANSWER: monocot or monocotyledon
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